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(1) M Definition The slope of the line that passes through the points

u ‘ Review of Lines Censyn) and (xa, o) is

y

change in y _ﬂ_ Y2 — Vi

changeinx Ax x» —x

- Ax=x,— X (2) W Point-Slope Form of the Equation of a Line An equation of the
—rn line passing through the point (x;, y;) and having slope m is

y =y =m(x — x1)

(3) W Slope-Intercept Form of the Equation of a Line An equation of
the line with slope m and y-intercept b is

y=mx+ b

W EXAMPLE 1 ALinethrough Two Points

Find an equation of the line through the points (—1, 2) and (3, —4) and write the +  SeedeH ﬂe z”)é
equation in slope-intercept form. ¢
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38. Manufacturing cost The manager of a furniture factory 4
g& . (V) DEATL WU 10D
finds that it costs $2200 to manufacture 100 chairs in one P Al * ‘F
day and $4800 to produce 300 chairs in one day. Suh That ‘“‘0\ = 1SO AP

(a) Express the cost as a function of the number of chairs -H 50\ = 20,
produced, assuming that it is linear. Then sketch the
h.
S | w15 F(120) ?
(b) What is the slope of the graph and what does it
represent?

(¢) What is the y-intercept of the graph and what does it
represent?



